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DARM Open Loop Gain: G (ZOOM)
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DARM Closed Loop Gain: 1/(1+G)
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DARM Closed Loop Gain: 1/(1+G) (ZOOM)
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DARM Digital Filter: D

—
o O
—_ —_
-t N

N

—h

R

e =
o o o O —
» ~ (o9} © o

= Nominal

- | = 1x More 16k AA

o
'A TTTTT

1

10

100

180¢
135

~135:

_188?

10

Frequency [HZ]

7100




Optical Plant Response: C
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Act. stage strength
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Act. stage digital filters
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Act. stage LOCK_IN to Displ.
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Act. stage LOCK_IN to Displ. (low zoom)
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Act. stage LOCK_IN to Displ. (high zoom)
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Act. stage DARM_IN to Disp. (D*A)
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